The saying *Saat vaar, nau tyohar’ (Seven days.
nine festivals) is associated with which state of
India?

Choose the most appropriate answer from the
options given below:

(A) Odisha (B)  Gujarat

(C) Rajasthan (D) Bihar

(E)  Question not attempted

T AR A RAER” T FEEA WA F fobr T A
daftmd?

Frafafaa fawedl 3§ & watfire soge ST
A) nfem (B) TSR

e TN (D) foer

(E) SaiawH

In Rajasthan, inserting a gold nail in the middle
of teeth by women is called:

Choose the most appropriate answer from the
options given below:

(A) Baari (B) Borla

(C) Daamana (D) Choonp

(E)  Question not attempted

TR & wfgarstt grT qial & ST @1 A A
TR R FEAMR: -
Freaffia frredt 3 & warifires Suges s -
(A) =R (B) @Rem

(C) zmr LDy 99
(E) Faf@ysy

In Rajasthan goddess Sanjhi is an incarnation of:

Choose the most appropriate answer from the
options given below:

(A) Seeta (B) Parvati
(C) Laxmi (D)  Usha
(E)  Question not attempted
TS 3 3t wisht e @1 st o
Freferta oot & eratfires 3wges e .
@) @ By o '
(C) st (D) FWr
(E) 3rgafawxn

KLM| ¢ |

According to the 2011 census, which district hag
the highest sex ratio in Rajasthan state?

Choose the most appropriate answer from the
options given below:

(A) Jaipur

(B) Dungarpur

(C) Jaisalmer

(D) Dholpur

(E)  Question not attempted

2011 & FHUHT &% FTAR TIIH T57 § qaR

ﬁaﬁ%ﬁmﬁﬁmmmﬁ
(A) X

AT

(C) ST

(D) g
(E) ruRa sy

Which of the following districts had the highest
literacy rate in Rajasthan according to 2011 cen-
sus? |

Choose the most appropriate answer from the

options given below:

(A) Tonk
(B) Churu
(C) Kota
(D) Dausa

(E) Question not attempted

2011ﬁm%mﬁqﬁmﬁﬁﬂaw"'

¥ forar Forey o) WA W R SRS T
P et & & warfis age I T
(A) T®
® TF
ey He
(@) W
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L 197 Z /
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/e ) On combining n@ classes of students having | 9 \?*_K1DS does not spread through:c  from the
___average marks 28 and 40 respectively, the overal ' Choose the most appropriate ansWe
average obtained ls'*() marks. What is the number options given below:
of students in the ﬁ;'st class if the second class has (A)  Unieoiecimonienia foctus
45 REotienteg (B) Handshake with the patient
ted blood
2 s A Ay | (0 e et
a‘m@ﬁﬁawﬁwmﬁaﬂwmm%wﬁ i
S - r e i Br Y (E)  Question not attempted
2 bt A He AIDS (TgH) asamaé’fm%l
S ﬁmﬁfﬁaﬁﬁmﬁémﬁbﬁmaﬂt?
(A) 150 (B) 130 (A) R R
175 # (D) 70 ﬁfﬁwﬁsﬁmﬁm
(E)  Question not attempted / ﬂfﬁﬁﬁ I © Hshitd T 1 Y
f (D) Hhita g3 1y
@ A sold a piece of land to B at a gain of 20% and (E) Eﬁﬁflﬁﬁ’ﬂ _
= BsoldtoCata gam ?f 10% . 1If C paid¥2,64,000 | 10  Match List-I with List-II. 25
for it, at what price would A have purchased it? List-I Llst-ll
A T T % T W ‘éﬁ 20% AT T B Y 91 3R B (Type of (Source of waste)
El 10%%mw%mcm\1%anaﬁcwﬁr%3aqm waste)
Ffauz 2,64 64,000 W?A S safr i ata s PenDrive L  Hospital waste
g0 b. Used syringe 1L E-waste‘.f*
(A) 2 1,70,000 i " (B) %2,50,000 C. Not easily pus Kltchen{‘waste
w4 degradable . P~
©) ?ZZOOOO(J(D) ¥ 2,00,000 et -
(E)  Question nofattempted / ST 4 d.  Vegetable  IV. Plastic thaterials
i ' peels N
8  The gland that seccares insulings and w19 geh-11 Q gAfer A : ?
prolonged low s%gzgetxon of insulin leads to @-I ‘Eﬂ'“ (aafire
t,f_,, (erafdre &1 waﬂn, ‘ L < ”D_ﬁ
Choose the most jappropriate answer from the WR') y P S
\ a.
tions given below? \
QPUEEES b. snhnaﬁné gam
(A) Pituitary, Diabetes ﬁ{ﬂﬁ
Diabetes
(B) Pancrc?as, g‘a“‘ c. m@ Wﬁﬂ'ﬁw e
(C)  Thyroid, Gout agufead
(D)  Pancreas, Gout EEISI :ﬂqﬁTE O
(E)  Question not attempted ¥ i 4 wfemidfeern IV oo g
e 1ifa 1 -sgﬁqq &1 @avl Fdr 2 — N Choose the most appropriate answer from the
Wi & W/ ﬁﬁl’f"' l options given below:
; ﬁﬁ 3—6{?: i\%)ﬁq"qlV b- “‘;“} I,d-1 y miﬁl
i a C- -
) ‘ﬁz“z‘f‘ (i), I C a-lbolLe-Ivod-m ey
(B) =W, SR (©) a-Lb-Ic-uLd-1v O\
(C) amEE, M (D) a-Lb-IV,c-NLd-1 ‘N
(D) =TI, W (ﬂﬁ'ﬂT ) )" (E) Question not attempte L
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Palash forest is Not found in which of the
following regions of Rajasthan?

Choose the most appropriate answer from the

options given below:

(A) (B)  Udaipur

(€) (D) Alwar

(E)  Question not attempted

Frefefea & & 9ot 2 e 3 v i ﬁ@

W e =
aifire Jugw s,

(B) EARAL

Frafafes et g
(D) ¥

Ajmer
Jaisalmer

(A) I

(E) Iafauy
At the time of integration of

the first phase, which was
formed?

present Rajasthan, in

the first group to be

Choose the most appropriate answer from the

options given below:

(A) Rajasthan Unijon

(B)  United Rajasthan

© Matsya Union

(D) Greater Rajasthan

(E)  Question not attempted

T T 3 vy T, T O,

T TUH HE -7 979 ' '

ﬁnf‘aﬁizﬁaw‘iﬁﬁvﬁfbwsvgmmgﬁ:

(A) TSI (B)  Emee v
TEH (D) AusRam

(E) 3rfa vy “'

Who was the first Rajasthani to be awarded the
Paramveer Chakra?

Choose the most appropriate answer from the
options given below:

(A) Shaitan Singh (B) Piru Singh

(C) Surendra Singh (D)  Ved Prakash

(E)  Question not attempted

mﬂiﬁmﬁmﬁaﬁ%mm
Oy
ﬁﬁf‘?ﬁﬁaaﬁ’q’faffﬁﬁmffba,'mm?
(A) Wmfde  _4@) diefie

©) gezfiw (D) & ™

(E)  sryafa gy

—
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In the normal human eye, light is focused op.
Choose the most appropriate answer from the
options given below:

(A) Retina
(B)
©)
(D)
(E)
HTHT W1 3 & W HIxd BIeT R

P e f & et wages o

Iris
Lens
Pupil

Question not attempted

(B)
©)
(D)
(E)

o
et
HTafa v

Select the option among the following against
which regular reﬂec}tion will take place:

Choose the mose appropriate answer from the
options given below:

(A)
(B)
©
(D)

(E)  Question not attempted
Frafrfea & & 3 R @t gfie e frafi
;m_iaﬂ%:

e fraedt 3 & Wi Jugw 3o -

(A) T THE

e 1 g ) o

Piece of paper

Polished Smooth wooden table
Cardboarq surface

Chalk Powder

(©)
(D)
(E)

S e
rgaia v
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Which of the following is an incorrect statemen
with reference to light?

Choose the most appropriate answer from the
options given below:

(A)  Two mirrors inclined to each other give

single image.
_\\\(B) Splitting of light is known as dispersjop_

16

A"L

~+ (O Incident ray, reflected ray and the normal
X / drawn at the point of incidence tq the
reflecting surface, lie in the same plape,
(D)  Regular reflection takes place from shiny
and smooth surface.
(E)  Question not attempted
ﬁn%ﬁaamﬁﬁﬁaﬁmmm%m{w D
¥ 4
ﬁﬁ%ﬁaaﬁm’iﬁﬁwffbmmmiﬁ:
\ Xd,cx(g;;?aaaﬁ(maaﬁm@am
N [
S (B) T e B ol e d, T
(C)  afem foeor, warater Feor 39 el we
% e foig X i AAfirena (e
TRk iak Lk O —
(D) Frafr T e 3 e T @
BRI

(E) Irgafa wx

With reference to laws of reflection which of the

following is the correct statement?

Choose the most appropriate answer from the

options given below:

(A) Angle of incidence is always lesser than
the angle of reflection.

(B)  Angle of incidence is always equal to the
angle of reflection.
(C) Angle of incidence is always zero-
(D) * Angle of incidence is always greater than
the angle of reflection.
(E)  Question not attempted . _
& Pt 3 wrad  Frefertaa § @ A
HYA ) ‘
- 3’\“3"\“
frafafia el § & waifa® I9g® A

(A) ST T e T 8 Sl 6

—— ATl
By HTIAA 0T §2F GUEAA e
(C) A 0T H I g ¥ et A 2l
(D) T, 0T B T T L L

(i

9 A person used to save 109

§ ,—~\/"’,
[ O 43 L

‘\0 1Q \’L \\V

To 96 < 1 }ﬁ‘f\‘\)ﬂ

@

KLM| ¢ 6 -
(N oF — ‘4 \ /qgo'ﬁ
el W b
\V4 PR - Q)’
e lv\)

F Vi

of his incomef After
two years his income increased by 20% but he
could save the same amount as before. By how
much percentage hag hs expenditure increased?
T Afth At a1y a5y 10% st 3T 21 3 3 a1
Iaehl 31 209 Nﬁmm?ﬁﬁémﬁ

T‘ﬁTWWﬂT%ﬁmm@émﬁuﬁmgﬁ

—

sl

()//

0y,
A A
A 245% ®). 252%
(©) 23_-13—% Mzz.g_%

(E)  Question not attempted / IR w

In a box there are three rows of toffees. The first
row has 60% more toffees than the second row
and third row has 40% less toffees than the second
row. If the total number of toffees in the box are
96, then the number of toffees in third row are:

o S 3 I o ofi ek &) et han A gl @
60% 31ferd 21 & i dfrrtt e & gt F 40
7 2y 81 7R A e s 06 8, ety
P ¥ 2 o s -

(A) 16 ®) 12
(C) 15 P18
(E)  Question not attempted / TR W

The percentage ditference between a% of b and
b% of a, is:

b T a% 31 a T b% T A ufdera § R

‘M 0%

(D)

(A)  (ab)%

o (8
(E)  Question not attempted / 3ITaRa W

1%
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40 litres of a mixture of milk and water contains
25% of water. 10 htres\?f water is added in the
mixture. " The Pefcent%e of milk in the final
mixture is:

mgmmﬁamo%aéﬁtwﬁzmwﬂ%lﬁw
3 10 fore T A formatman & 1 ora gper fim
degarafad Y

(A)_ 70% ®B) 6%

O 60% ®)  75%

(E)  Question not attempted / SR 9

y

Zy

Y
~

f? The average age of a hqsband wife and their only
“  child is 22 years. Five Years ago the average age
of husband and wife wag 26 years. The present
age of the childis:

(A) 4years (B) 3 years

: (C) 2years ﬂj) 5 years

(E)  Question not atteaipted

ufd, oeft 3 ek wres Y st w22 € ) qig g
qéqﬁqmﬁaﬂmag‘@_aﬁeﬁma}ﬁaﬁm
l‘\ ‘ "y

9w % 4 B 3

o © 2% ;ﬂ‘) 5ad

[ (E) i vy
<2_'; If the cost price of an artjfle 15 80% of the selling
price, then the profit percent is:

a&ﬁ:ﬁmwmu@m ﬁmmmw%
2 ?ﬁamsrﬁrm%
@( 25%

(A)  22%
(C) 30% M) 20%

(E)  Question not attgh;pted | SRy
N

72

/e

24  Meja Dam is located imiwhich of the following
places of Rajasthan? (J

Choose the most appropriate answer from the
options given below:

(A) Kota #B) Bhilwara

(C) Udaipur (D) Tonk

(E)  Question not atfempted

b‘c

5
@ \_@1%2,__\ d
ﬁﬂﬁf@aﬁm}ﬁﬁ‘mmwﬂi
(A) Fra ) e
©) F@W D) T*
(E) mﬂaw
KIM| ¢
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Bisalpur Dam has been constructed on which of

the following rivers of Rajasthan?
Choose the most a’pro[mate answer from the

options given belowt™

(A) Luniriver * F‘(B) Saraswati river
' ,

(C) Chambal riveg’ z( D) Banas river

(E)  Question not gmi:mpted

ﬁw%ﬁaaﬁénmﬁﬁmﬁwfmmaﬁ‘
a1 fewfor fepam o &2

frfefaa faedt 4 3 waffaes 3ag® 370 3.
(A) T o (B)  wEd
(C) ==

(D)= il
(E) orafta g

i s vy

]
|

O

Where is Pichola la.gé’?of Rajasthan situated?
(A) (B)  Udaipur

©) (D) Ajmer

(E) Question not@empted

ToreT™ 1 st siw Fef fua &2

(A) fiearer f‘"’:(.%aagt
(C) araTST H(D) IR
(E) :ﬂgaftaw N

Bhilwara

Banswara

In camel’s milk whi(]: of the following vitamins
is found in lowest aQﬁunt"

'Choose the most qppropriate answer from the
options given below: ™

(A) Vitamin B, ':f
(B) Vitamin B, N
(C)  Vitamin B, ¢
(D) VitaminB, O
(E)  Question not attempted
P 52 3 g e e e
g};ﬂiw
ﬁd‘aﬁaﬁﬁ§%wﬂ%mmaﬁ
(W) f%mﬁwaﬁ ~
ﬁ'ﬂﬁHB“ N
(€) faafms, '\4
(D) faarfim g, -

(E) Ngaftaw

W
N~
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Ani
nimal husbandry does not include:

Ch
00se the meogr appropriate options from the
given below:

(A)
(B)
(©)
(D)
(E)  Question not attempted

RAINISCR:| TR
ﬁwﬁ?&gaﬁwaﬁﬁﬁmﬁbmmmvﬁz
(A)  FFpS I

e e

N SR G

L S

Il wx

Poultry farming
Zoo Management

Fisheries

Breeding of livestock

©)
(D)

(E)

Which of the following statements is not correct
about camel?

Choose the most appropriate answer from the
options given below:

(A)
(B)
©

Vitamin C is not found in camel milk.

Bactrian camel has two humps.

Camel hamp do not store water, they are

full of fat.

D) Dromedary camel has only single hump.

(E)
P i & 32 3w - T T

13 g e B I I _
) sy i Pl e e e &

/
®) Wﬁﬁi@fﬁ;
- 3 areft wferd e E
$eFTIT
k!

/

W&%W@@l"

(D)

Question not attempted
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Laxmi Niwas Mittal, born in Rajasthan is a
famous personality in the field of:
Choose the most appropriate answer from the
options given below:
(A)
(B)
©
(D)
(E) Question not attempted
_ et e fireer, e o o g9 8,

d A RE gL
Pretferiae et & & warifores 3agw S0
(A) @
(B) ﬁm,

AL T
(D) . fafdear
(E) SraRawH

Sports
Science
Industry

Medicine

Ila Arun, an artist born in Rajasthan is from the

field of :

Choose the most appropriate answer from the

options given below:

(A) Kathak dance

(B) Poetry

(C) Folk - Pop Music

(D)

(E)

T & ) e SR B R 8 @ el

Freferfam faved & & warffies Fagws o g
LAY T

(B) wfw

(€)  wH-uiy wfr

(D) f‘am "

&), s

Painting

Question not attempted

| Contd...



'\\\;\ Chitrangda Singh, an artist from Rajasthan is

_’( most famous as a/an:

Choose the most appropriate answer from the

options given bclu\;\f;‘.)
(A)  Actress |
(B) Musician ¥
(C)  Sculpture ax\:t :
(D) Pamnter v+

(E)  Question not attempted

T 1 FArR R fiw fra i waifs

eraz_t? S

l“'i’
33

poultry birds?

Choose the most('ai;propriate answer from the
AR |

options given below;

(A) Intramuscularly in thigh muscle

(B) In eyes with Water

(C) By scratchi%xg:

(D) In drinkingswater

(E)  Question n?} Lttcmpted

TR St i A% W Ry

%ﬁﬁﬁ#ﬂﬂﬁm

ﬁwﬁf@aﬁmﬁémmmgﬁ:
(A)  oF:qxfrr oW & sifer ot fara

(B) w%mwiaﬁzﬁﬁ
© gEwm .,
(D) <% 3 o 4

()  sryferss
KLM| o W

-

Which of the lel()wing is correct about the

administration o{ Marek’s disease vaccine in
i

Q) Which of the following vaccine is used for
D( broilers in poultry?

Choose the most approprigte answer from the
options given below: i :

(A) Ranikhet Disease Vaccine (F strain)

(B)  Ranikhet Disease Va;cine (R;B Vaccine

(C) Ranikhet Disease ‘Vaccine (F strain
4

booster) &
(D) Marek’s Disease Vaccine
(E)  Question not attemptfiq
e itgerd 3 forw . el ey s
ﬁmal?_il & e
Preafnfa it st s e

(A) Wéaﬁnwaw(ﬁ;ﬁ'ﬂ

(B) u:ﬁ@aanwaw(@;m
(©) wéaﬁnmaaﬂ(féw{et)
(D) W T 7 Fey 'W
(E) rgafea s

sy oy

Which of the following va&}e is given on day 1
in poultry industry? [N

Choose the most approprwg answer from the
options given below: |

(A)  Fowl Pox Disease Vﬂmine
() Ranikhet Disease Vdccine

2s)

(C)  Marek’s Disease Va;‘,cine

(D)  Gumboro Disease Vactine

(E) Question not attemp;e‘d

Fraferfian fawet 8 @ waifaw ITG I .
(A) Fage ATH (I3 m L

(B) THERATE A
(C) "EHIMFEHE
(D) TERITE A
(E) ot g

e i e e A
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Which of the e e .
it :?f?llow ing isnot included in Panchpir |(38

Ch(.)ose the ;,ngosr appropriate answer from the | »

options giveg below:

(A)  Tejaji. , (B)  Ramdev ji

(©)  Gogagi (D)  Pabu ji

(E)  Questioh not attempted

frafofaa #Q 2 ooeam ¥ dadi § mﬁa@

%? ——

Freerfim R 3 & warfires g 3w .

Ay S (B) WREH—

(©) WmH L (D) wsH-

(E) Safarys

Identify the correct statements given below:

a. Kallaji, who displayed exceptional bravery
and cotrage during the invasion of Chittor
fort by Akbar, is popular as a four handed
folk deity in Mewar region. '

b. It is Bélieved that even after Kallaji was
beheadéd, his torso reached Rundela while
fightihg the Mughals.

c. Kamadig panth was formed by Kallaji. @

4. Pabujiis worshiped as the God of camels
in Rafasthan. K

Choose the most appropriate answer from Qe

options given below:

(A) b,c, ¢?p1y (B) a,b, d only

©) acdonly (@ abceony

(E) Quesﬁon 'n(')t attempted ]

P uARE AT o o
o3 A ST A
ﬁ@ﬁﬁmﬁ?ﬁﬂm‘ﬁaﬁai' '

3 eq R AEE R o

b, w I R I FETE Sy
qg'% wl — ad W-ﬁnf )

. el gﬂlfm%m a;sqﬁ‘@iﬁ
41 5 2

I S
d V/ ) ELgid T

e g A bl

(A) mg@d D) Fada, b

(C) Fdd 8,5, d 3

(E) | FRA@IA

‘.
Ly
-

Who was the famousy folk singer during the
princely movement of Rajputana?
Choose the most apér?oriate answer from the

options given below: ()
LAY
|

Chand Bardai 2

(A) RanaBai
(B)
©)
(D)
(E)
mider P aefi? Oy
Freaferfie e 3 & g Juge 3o -
@) wmad (@) S S

© W& ﬁan

(E) aRaws

P.K. Mishra -y

Ganeshi Lal Vyas
P,
Question not attempted

.?“*

—_—

—_—

F
4
Which of the following is most appropriately
L
connected with CARI&‘IRBHEEK?
p
Choose the most apﬁi%priate answer from the
i

options given below:

(A) Goat Ny

(B) Sheep -

(C) Poultry ;;

(D) Camel N

(E)  Question not ati‘énpted

frafafea & & @\ & - fnfflw (CARI -
NlRBHEEK)ﬁWm%gmgmty
mﬁm&ﬁmﬁwmm@
(A) W .

(B) W% oy

©) TR . :

(D) ¥+ )

(B) rof@us

| Contd...
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Which of the follom'ng 1s an important grass used
as animal fodder in Rajasthan?

Choose the most appropriate answer from the
options given below:

(A)
(B)
©)
(D)

(E)  Question not attempted
ﬁnﬁ%aﬁémnﬁggaﬁ%%qaﬁwﬁ
RiChIGECIUERE SR Y
mﬁaﬁﬁﬂmmmgﬁ:
(A) WRE (3rfeatom daaw)

(B) e @=gah)

(C) HTE/TERE (TeHod THT)

(E) i ws

Sares (Albizzia lebbeck)
Peelu (Salvadora sp.)

AradwMaharukh (4ilanthus excelsa)

Moorat (Penicum turgidum)

Which of the following animals are commonly
reared by pastoralists in arid region?

Choose the most appropriate answer from the
options given below:

(A)
(B)
(©€)
(D)
(E)  Question not attempted

TR g1 I g & FPeferfiad § @ e s d
4 & it 1 e s

Freaferfin faaredt 3 & wraffires suge 30 i
A) FesgR

(B)  www it weforat Y

(©) g 3Tt

(D)  wasft 3iw org

(E)  saf@uy

Pigs and Dogs
Ducks and Fish
Cow and ant

Cattle and Sheep

KLM| ¢

@)
K
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10

The term pastoralism refers to:

Choose the most appropriate answer from the
options given below:

(A) Rearing and herding of animals
(B)  Hunting and gathering of food
(C) Farming and cultivation of crops
(D)
(E)  Question not attempted

AR 1o 1 o1 2

frefofes fawedt & @ waifae suges s .
(A)  SIGST T ITeH-9190r SR IR

(B)  fyrpr e 3k WS vEE AT

(C) it (@it ik woe Seared

(D) =R

(E) rgafawa

Trade and Commerce

Which of the following soils is found in
Ganganagar, Hanumangarh, Alwar, Bharatpur,
Jaipur and Tonk regions of Rajasthan state?
Choose the most appropriate answer from the
options given below:
(A) Saline soil
©
(E)
sy e 2 i o 3 g nd /
e

ferferfiaa fasredl 3 & wartfires Jugw o0 o

A) FORY (B TG

© wehgy, A R
(E) Wﬂ’/“;

| Contd...
»

(B)
(D)

Alluvial soil
Black soil Laterite soil

Question not attempted




44 Which one of the following statements is not | 46 In some cases, pastoralists supplement_their
correct about black soﬂ in Rajasthan? income by selling
Choose the most qppmprmte answer from the Ehoose The mostappropriate answer from the
options given wow:
options given belov-z. 3 (A) Mineral eilices
(A)  Itcontains enqugh quantity of nitrogen. (B)  Handicraftdnd textile
(B)  This soil is faimd in Kota, Bundi and Baran (C)  Gem storiey
v=4 D ~
regions. 1 ('E) Modern dadgets
o N . (E)  Question fioh attempted
(C) This is fertile soil for Rice, Sugarcane and S A aﬁ.ﬁ S wog, s
Soyabean crdps. FTH A B
(D) It is a Cheeka.dominated soil. %Mﬁ 8 watfirs 3age 377 T
(E)  Questi ratt ot d (A) Eﬁmm ”
ion notaftempte L AB T A 73
mﬁ&m&@mwﬁmw © Wy ¢
¥ wenf & wet (D) aﬂgﬁﬁmm@y
: E Wﬂﬁ 4
ﬁqﬁiﬁaaﬁmfamf&wavgmmg}: E) W
\/Uﬂ/ TEH qaTH A qlSﬁlsﬂ Iufra & R 47  “Project Tiger” campaign was launched in:
(B) z;gtia'[aﬁa !@@Tm %T&‘ﬂim’:ﬂ%l N Choose the mo.:’t :appropriate answer from the
- 5% R options given below:
(© FEFEES W@ T qﬂﬁaw%ﬁwnm@ %
mﬁ%ﬁ%h g I ;m L
(D) & <fio JuH BT Rl %ﬁn@ forepest] Y waifire 3agw 37 T4
—_C ~£ 1973 g (B 198
() € 1983 4 (D) 1971
Q (E)  Question sot attempted / A v
45  Where is the head office of Central Arid Zone
\ . 48 Which of the following conservation strategies
. ?
Research JatRo (%;'XZRD Ty Kajasthan? do not directly iqglude community participation?
(A) Jodhpur [~ Choose the mops-appropriate answer from the
B) Jaipur LT options given below:
ri (A) Beej bachad andolan
(C) Dausay =y (B) Chipko novement
(D) Ajmer N (C) Demarcafioh of wildlife sanctuaries
(E)  Question not'étiempted (D) Joint forest inanagement
&l Quesuon ot altemp(cd
3 g (CAZRD
Wmﬂﬁ@%ﬂ :,pﬁ :nﬁ
S ”“«" Frferfia mlfﬁt ITY I .
M ke (A) dSaEr anzim
(B) AL i _y  faw 3 .
() @ v (C) T FYA 1 Hiwi
s o (D) @Y% o A
(D) QY| (B) et wg
313'{1113 b N
E) O 1n [ Contd...
KiM| @
/
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51

e

In which region of Rajasthan has the Amrita DeVvl
Krishna Mriga Sanctuary been developed?

Choose the most appropriate answer from the
options given below:

(A) Pali
(C) Kota (D) Bikaner
(E)  Question not attempted
ﬁu%mﬁ%nwn%f&m&ﬁﬁmﬁw
qnmaﬁﬁﬁaﬁw_rw@,,
mﬁmﬁﬂmwﬁtéﬁt
Tt — B S

(D) dfremT

(B)

Jodhpur

AT wy

Which of the following forests is found only in
Mount Abu region of Rajasthan?

Choose the most appropriate answer from the
options given below:

(A) Salar

(B)  Sub-tropical Mountaihnr -
) Tropical Thorn
(D) Palash

(E)  Question not attempted

ﬁm%mﬁﬁﬁ:%m%ﬁamaqmﬁwﬁ
EICE s

P et i & wraffras
(A)

39F I -
RS L S

IS0 e gy
W@ v
T p

HTafE g

<)
(D)
(E)

Rajasthan receives most of its rainfall from,
monsoon.

Choose the most appropriate answer from (he

options given below:

(A)  South West (B)  North West
(C) North East (D)  South East
(E)  Question not attempted

adtdr

ﬁﬁf%rﬁaaﬁiﬁw’iﬁﬁmifbwwgmwii:
feqor-afem

(A)
©)
(E)

(B) Fat-afgm o

y{ feqor-qdff

@

12

Which of the following is not correct about camel

pox?

Choose the most appropriate answer from the

options given below:

(A)  There are high chances of the disease in 6
months to two years of age group.

(B)  This mainly occurs in summer and rainy
season.

(C) Duration of the disease is 2-4 weeks.

(D) This is a bacterial disease.

(E)

Question not attempted

%ﬂﬁjm%aftﬁmmmmﬁl
ﬁﬁ%ﬁgaﬁwq‘iﬁ&mfﬁwwgawgi:

(A) 6mﬁzﬂ%ma{gﬁmﬁn%ﬁ%ﬁ
T TR et 2

(B) azwﬁmmﬁmmaﬁ%@ﬁﬁm%n

©) wWATH R4 gaEY

(D) =& Sframy fra v

(E) gafausy

Which of the following is responsible for Tibarsa,
Sarra disease in camels?

Choose the most appropriate answer from the
options given below:

(A) Bacteria

(B)  Protozoa

(C)  Nutritional deficiency
(D)  Virus

(E)

Question not attempted

&ﬁﬁﬁmwﬁwmmnm
IAERA R

Frferfera fased 3 @ warifoe
(A) - Sfraroy

B)  Waxsayg

(C) oo dran (i

() fawmy '

(F)  siaha ws

III™ I @)

| Contd...
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According to month wise annual calendar for
camel management and prevention of disease
proposed by National Research Center for Camel,
the best period for hair cutting is during

(‘hoose the most appropriate answer from the
options given below:

(A) March and April
(B) July and August
(C) September and October

(D)
()  Question not attempted

m i & wER A A ¥ F ER 9=
#1743 F1 qATAY F1A Fdm R
frafafaa faged 4 @ waffas ogw o
b BT S A

(B) qmézmm

() fGHWdﬂTWI

(D) awaﬁshtwaﬁ

(k) AT

Which of the following statements is not correct
about camel milk?

Choose the most appropriate answer from the
options given below:

January and February

(A) There is a very high amount of Insulin
(about 40 micro unit/ml) in camel milk.

(B) Camel milk contains lactose about 3.8 to
4.8%.

(C) pH of camel milk ranges 7.8t0 8.3.

(D) Fermented camel milk can be useful in
Jowering blood cholesterol.

(k)  Question not attempted

Frsgfefian i %2 % gu # i - AL

T B T

h—gﬁfm it it wrrtfires g L

(A) &zmwﬁtgﬁﬂﬂmmm
40 wgaR e faed) wTA1 ﬂ:“;'am am

(B) % % qud e 3. 8ﬁ4a8:) bt :

(C) FewHguFpH WT8UE S

m)) tzaﬁrgﬁaﬂwﬁ'amﬁ“
3 ety & wa Bl

St 94

(E)

KiM| @

L
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Who among the following first used the term

Rajasthani in 1912 in the linguistic survey of

India for the language of Rajasthan?

Choose the most appropriate answer from the

options given below:

(A)

(B)

©)

(D)

(E)  Question not attempted

Frforfes & & frad wdmm 1912 # wrdfta s

@imﬁm%mmw F

i i o

frafafea fawedt & & waifas sogw 3o T+
AT ST TaTen fiea

(B) TS goieht

(C) i At

(D) i o

(E) rguRaws

George Abraham Grierson
George Helenski
George Fernandis

George Thomas

Which of the following species contains the
lowest amount (%) of lactose in their milk?
Choose the most appropriate answer from the
options given below:

(A)
(B)
©
(D)
(E)  Question not attempted

vl @ e ot 3 qu 3 A R o wry
(wfererram) gieft &2

Foriferfe Pl & @ wrafies JUgws o g3
(A) &l

(B) &z
o ww Y

(D) MY

(E)  siefa uw

Goat
Camel
Water Buffalo

Cow

| Contd...



N 312‘;:(1‘:\::2:::: :mman from Rajasthan to be
Snoone the mmoss ndian freedom movement?
. appropriate answer from the
aptions given below:
(A) Nagendra Bala
(9!1' Anjan_a Devi Chaudhary
(€Y  Laxmi Devi
(D) Rama Devi Pandey
(E)  Question not attempted
ELAIRIES CEL I o oo I SN ————
w1 gan ufeen A offr
Prfefiaa fared & @ gaffus g 3T
(A) TRAA gy st s
(C) awafy 2 (D) Tt TR
(Ey  srqafraug
59 Which of the following districts had the highest
population growth rate in Rajasthan during the
duudu 2001-2011?
(,hoosc the most appropriate answer from the
options given below:
(A) Barmer (B) Ganganagar
(C)y Kota (D) Sirohi
(E)  Question not attempted
2001-2011 & gvw ¥ fafafeaa § @ aswam #
e frx &t seE afe v aed sfue o
frafafaa fecdl § & aaffas 3uges 3T T
“AA) WTIR (B) TR
© e (D) et
@ oo
60\ Theé animals which give birth to young ones of

X

their own kind are called:
Chéoose the most appropriate answer from the

options given below:

(A) Oviparous _

(B) Invitro fertilized | animals

©) Ovov:vnparaous

(DX) V:vnparous

(E) Question not attempted

3 yiq S ot It Hafaar 3 wafedt F 9 3| ¥

Feema &
 Frafefaa fawedl § @ watfire 39gw IO,

(A) IHETEF (B) wﬁﬁiﬁam

(C) HAgsUgA (D) wS(EyS+

(E) Fafayd

KLM| ¢
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Which of the following physical regions of
Rajasthan shares its llo’yndary with Pakistan?
Choose the most appropriate answer from the
options given bclnw:p
(A) '
(B)
©)
(D)
(E)  Question not x\:gmplcd
Frafafaa & & g 1 A sivifers @
e
frafefaa faweat & ﬂwﬁbwawgm I
(A) !{dfﬁzr-ﬁ&h rels
By aferft a7 & ifﬁ
(C) :mar«ﬂ A
(D) i ff wart

(E) af@ws [

v

Eastern Plain Region

Western Arid ké‘izion
|

Aravali Regiop

South East Plateau Region

Which one of the fol!d‘;ving states does not share
its state boundary withRajasthan?

Choose the most a[f];)opriate answer from the
options given below:

(A)
(B)
©

Maharashtra .4
Gujarat ™

Madhya Prade('Sh;

(D) ™

(E) Question not a(ttémpted

Frafafad & @ FH8, 0F T THeIH & gy
7ot T T AT Te 3 1 4
mﬁmaammmgﬁ

W
(B) oA
e 9e9

gf@mm_
313511’(?1 a4

Haryana

©)
(D)

(E) |
| Contd...
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Which of the following National Highway iy 4
major highway passing through Rajasthan, which
goes from Delhi to Mumbai via Jaipur, Ajmer
and Udaipur?

Choose the most appropriate answer from (he

options given below:

(A) National Highway no-9

(B) National Highway no-24

(C) National Highway no-3

(D) National Highway no-48

(E)  Question not attempted

frrfefiaa & @ #1381 T Tommt o @
F AR IER AT g EE STy
Frferfige e 8 @ wartfare IagH I
(A) TS TomT EEAT1-9

(B) U USHI HEAT-24

(©) T T w3 /

(D) TS TSt E&A1-48

(E) Safa sy ) '

Rajasthan Road Vision 2025 was repared by
which of the following bodies?
Choose the most appropriate answer from the

options given below:

(A) Planning Commission

(B) Public Works Department Rajasthan'
(C) National Highways Authority of India
(D) NITI Aayog

i d

(E)  Question not attempte s
forferfiaa & & fora AT

2025 T e AT 4T? “
-~ ,,,_., ﬁt
i faredt i @ @i g™

(A) e ST

(B) e fawior

(C) wrdE i uﬁ'ﬂf’f/ fer

(D) e AT

(E) 3 Pl

KiM| @
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The Capital of Matsya Mahajanapada  was

C'hoose the mowst appropriate answer from the
options given below:

(A)  Taxila (13)  Kaushambi

(') Videha (1)) Virat Nagar

(1) Question not attempted

wew] qeTAAA ) raarh o

fiferfean famedt & 4 watfiras sogem 2700 74
(A) awforen’/ ®) Ay
() fazm bgy

forrz
(1) wqafagg

Rainfall received in winter season in Rajasthan is
called:

Choose the most appropriate answer from the
options given below:

(A) Mavath

(B)  Aamra Varsha

(C) Phoolon ki Bouchhar

(D) Manas

(E)  Question not attempted

¥t o & T & €1 ATelt a i Fa S 2
Frferfaa faeredt & @ aaffire Juge 3 94

a3 (B) HHaut
(C) paifrdBR (D) W

(E) oFafay4

Mukundra and Bundi hills are located in which of
the following physical regions of Rajasthan?
Choose the most appropriate answer from the
options given below:
(A) Western Desert Plain Region
(B) South Eastern Plateau Region
(C) Aravali Region
(D) Eastern Plain Region
(E)  Question not attempted
qoed ¥ farw imifers &1 § 3571 oiv i i
weifeat feua &2 -
st fached & & warfire sages sw i
(A)  ufeft st e &
o qeff wara CiEd

) owEe &
(D) AT e &
() i@ wd
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68 Match List-] Wwith List-n.
ol

F\\ List-1 List-11
1 (Gllnd) (Its Location)
a. (\, Pmutary 1. Kidney
b. €\ Thyroid 11. Brain
¢ :“‘ Adrenal L Neck
d. Thymus IV, Chest
qdpm\!(d} u%gﬁi’mﬁ&m
e weh-n
- cifn Rty
a. '\i W(‘ﬂm I 5
b

C. ¢

d. qIHE V. o

Chgﬁse the most appropriate answer from the
op{fahs given below:

ﬁqmﬁmﬁﬁﬂmﬁwmwgﬁ

A a-ILb- e Ld 1V

By4a-Lb-I,c-1Ld-1V

(Ci a-IV,b-1,c-1,d-1
(D) a-Lb-1V,c-1L,d-1I
( Eff Question not attempted / 3Fafa St
™
69 Ho@* many bones are there in an adult human
be;{:?

Chbﬁse the most appropriate answer from the
)
options given below:

U I 470 4 sAfeerat ) wean fopaedy et
ﬁﬂ%&aﬁmﬁﬁmmmaﬁ
(A)-. 198

f"\”* 206
(Cp 318
(D;;‘j 128

(E)” Question not attempted / 3TqafE wyr
KLM | ¢
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n

72

9

How ﬁmny chambers are there in a pormal human

hcupfl

Chapse the most appropriate answer from the

options given below:

(A) NFour

()’ f (D) Five

(E) — Question not attempted

U YT A1 v # o g i )

Fraferfiaa foret i & watfims 7 m 7T 74
AT T (B)

(©), ;7:1 (D)

(E) o St 94

N

Humah beings have —_____ types of teeth.

Chdose the most appropriate answer from the

options given below:

(A)  Three (B)

(C)=40One (D) Two

(E)r"‘Qucstlon not attempted

ﬁsfﬁm%a'fax’l%b
ﬁmﬁ&mmmm:
V'

(B) =X
3%
.%(7 ‘((ma? ’

(D) A G
Wh;;i of the following is an example of physical
* chafrge?
Choose the most appropriate answer from the
optlof‘s given below:

%
@,
(B)mMeltlng of wax
©
(D) Rusting
(E) quuesuon not attempted

ﬁaﬁiﬁaﬁﬁmm\hﬁmmaﬂwm
%mmaamwww?
(A)( ﬁﬁmm ”
q}qwﬁm
“f?) 'memawwﬁm 72
(D) aﬂm )"

3@1’{?{&[&

(B)  Three

I'wo

'Ifa

Four

©
(E)

‘Formation of curd

Browning of apple after cutting

| Contd...
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73 Match Ligy| with List-]J.

List-] (Elemem) List-1] (Appllcation)

a. Pld(:n:.lm I. Medicina] use
b. Sulpbpr I1. Jewellery

. G !
c err)?tc HI.  Pencil
d. Mcreury Iv. Thermometer
g1 F @1y T frem
Tt ma) et (g
a.  wHHEm /4. Faferedfrr aqainy
b. q?ir‘ S L sy

c. 'ﬂ"ﬂ:ﬁ . dfge
d. Wl?mﬂmz)-—iw) ArETY/ermiefey

Choose the most appropriate answer from the
options given below:

15 v o Bt & & rerfires swrgem <
(A) a-fLb-1V,c-1,d-11)°

'r§

(B) a-BVjb-Ill,c-1II,d- L e
’ya u,ﬁa Le-NLd-IV_
a-EB-1,c-11Ld- IV
(E)  Question not attcmpted/&iﬂﬁ?f srlet
<r
74  Which oti_fhe following is not a property of
metals? ¢ ‘
Choose Ll;e';pwst appropriate answer from the
options g ;_,wch below:

(A) Sonorous (B) Ductile

(C) Mallcable (D) Non Lustrous

"5 1 1 71 AE 87
Wﬂqaﬁ?m?@/,_ s
ot 5 i g aifasw 399"

" ﬁfﬁ‘ / (B) LGl Mm
= (FHF)

(©) W@}M

(k) W'ﬂﬂ

17

77

‘_—'—'

7 6O

e
9< 2 ;0
Ayushman Bharat a flagship scheme of
Government of India is a: <
(A) Programme to Confrdl Pollution
(B) Programme of Heait}g Insurance
(C) Programme of Flood.£ontrol
(D) Programme of Clin(ﬁt;b Control
(E)  Question not attemé’@d
SR MR, MR O 57 TS 8-
“(A) e e ¥ i L
By TR AT FEw
(C) g Fr=oT 1 i
I IESEIRIERELEILEL &
(E) rgafa v N

f\§

v

26/ At what rate of compoune'gnterest per annum a

sum of ¥ 900 will become ¥ 1089 in 2 years?

mﬁaaﬁﬁim%ﬁmaﬂwoomzaﬁﬁ?
1089 & ST@? & —

!\u
(A) 12% =

CNJ e
B) 15% vt /\ .
) o~ o

©) 18% o~ g0 90
By 10% 4 j

. =
(E)  Question not attemgt'éd / 31'33‘&‘6 I

Name the first mammal (amjmal) to be cloneq:

Choose the most appropriate answer from the

options given below: -

(A) Dolly o

(B) Meesha N

(C) Keeto 4

(D) Raani N

(E)  Question not attempted

TR L ST Y S St S 5 e

ﬁwﬁmﬁmaam%mﬁ .
Ay e "

(B) s %

©) & o~

(E) st wa -
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Which ani
imal keeps on chewing continuously
even when they are not eating?

Choose the most appropriate answer from the
options given below:

(A) Snake

(B) Buffalo

(C) Dog

(D) Lion

(E)  Question not attempted

PR SR St v &, Tty e 5w o vt
T T e R?

ﬁﬂ%%aﬁﬁﬁﬁﬁmmmgﬁ:
(A) ®fg @

By W

© Fary

D) WE®)b

(B) rgafaws

Which of the following method should be adopted
to produce a pure line in cattle?

Choose the most appropriate answer from the
options given below:

(A) Inbree(_iin_g

(B) Outcréssing o

(C) Cross breedipg »

(D) . Outbreeding )

(E)  Question not attempted -

AA)  HATITH
(B) afedmm
(©) wwm
(D)

(E) af@wd

KLM | &
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Indira Gandhi Canal project is Jocated in which

of the following physical regions of Rajasthan?
Choose the most appropriate answer from the
options given below:
(A)  Aravali Region
(B)  Eastern Plain Region
(C)  South Eastern Plateau Region
(D) Western Desert Plain Region
(E)  Question not attempted
e it e afvdrsrar ey % frerfofan 4 4
fara stmiferar & o fega B
Preferfiaa farmedt 4 @ wraffirm 3agems 2 44
(A) Fae &
(B) gt Brht &
(C)  aftqor it wartry a
kDY ufirft wEraefta fzm A
(E)  Hgafa v4

In which place of Rajasthan is the Chulia waterfall
located?
Choose. the most appropriate answer from the
options given below:
(A) Kota (B) Karauli
(C) Chittorgarh (D) Alwar

(E)  Question not attempted
qferan et sara weredT 15y % frw A i feaa
Frferfian faaredt i & warffires sugm 3 =

Frer (B)  wiYedt
fardeg (D) #HaFT
(E) qafays

Which one of the following districts had the

lowest population density according to 2011

census in Rajasthan?

Choose the most appropriate answer from the

options given below:

(A) Jaisalmer (B) Pah

(C) Tonk (D) :ulorc

E) Question not attempte )

(2011 & FAEAT & HTEN ﬂnn?rwn
- 3 e v o T 1 A A

oo facet o e 3 37 T
7 e (B) et

©) @é® (D) e

(E) #AAf@awd
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SR I e Vg L (A ~
1% >y >
_ - = f < £ O S =
AT 0D . i 1> .
8} The Eea:,: —'Tun;E\v which when divided by 6.7 and k; >0°. of income of P is equal to 10% ot Qs
% fc.axef. 2 remainder S 1< T income. If the income of Pis ¥ 2780, then whatis
mm%%z#f.“*"iﬁ%\zﬁwsﬁw the income of Q? ;
TYES S b D p A ST F 2%, Q1 3 ¥ | 00, F T A1 A
(A)  les Pﬁm{:’?O%ﬁTQﬁWM%)
*’”f‘ 173 , (A) T 5680 '
v g o, -
(B) T 8340
My 197, :
. - () T 5460
E) Questi
on not attempted ST vy Dy T5560
3,4‘ ) ‘.'f‘ E) Question not attetipted / 3199 w1
- .:t‘e average of first 5 mulliples of 12 is: ( m ;
.;?mvfafzwﬁmuka%z wrsdl . -
(A) s e 89  The new name of “Indira Rasoi Yojana™. the food
BT 36 . . N :
(C) 24 O 15 security scheme in Rajasthan is:
(E)  Que tion not atte ,: o Ch?ose t%le most appmpwte answer from the
o~ ‘(_‘ > options given below:
_8_§ An amount of 23,500 is 1o be divided ot (A)  Mahatma Gandhi Rasoi Yojana
., A.BandC; e 111 - B)  Atal Rasoi Yoj
< in th =-1.1 ( asol Y 0jana
ﬁ‘/ff; share of C js- emo%‘}.‘_s_mmﬁm ' A
T is: ~ (C)  Shree Annapumna Rasoi Yojana
+ T23 SOOfT”TﬁT?:TA,Bm(C%m Ll1g (D)  Rajasthan Rasoi ¥ojana
9 T e T m ac W%FF?T??’IT (E)  Question not attempted
oo 0 Teo0o (B).| T 5375 ST @ e A "3 T e
(C) z7833 (D)., T 4700 RIS o
() Question not attempted / srqefiy s ﬁq%mﬁwﬁ&wdﬁwsvgmmgﬁz
- (A)  FETeRT e wd ey
* 86 The LCM of two numbers is 36. If their ratio is (B) 37 @ A
% : 3‘, ther{ their sumis: oy NS it =t T vy
Vo WSS F A geedE 36 ¥ R s (D) TSR T arery
- 132 ﬁT U ! E) ;
AT 2 32, mmrf’:mﬁ?m ) opefawx
n (A) 240 (}3)(:j 27 3
er 30 (D). 18 %0  The Government of Rajasthan,  announceq
N . - )
(E)  Qilestion not attemmd / m“ reservation for women in Panchayati Raj
A ' Institutions. The percentage of reservation is:
The population of a place increased to 84,000 .m Chéosc the most appropriate answer from the
2023 at the rate of 5% per annum. Then what will Options given below:
be its population in 20257 . TSI WO Wl o wrewroi ¥ witemad 3
fordt wam &1 swEn 594 afaad €1 | 2023 A %nmﬁmmumwm%a‘m
- ~. . ———
R > IFT JAEET & i
84,000 1 STl B, @1 2025 ¥ , .
\ ’ 1 > o .
e . mmaammm@
et N 610 (A)  25% 339,
(A) 88420 (N 7 . , '
; (€)  50% D) 20%
D) 93,600 \
(C) 91,560 (D} 95, " ,
W o4 (E)  Question not attempted / AaRa sy
(E)  Question not attempted /
19 - | Contd
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The initial narge of Which of the following canals | 94  Krishna Poonia, a woman player from Rajasthan §
was Rajasthan Cangalo T

MOSt appropriate answer from the
options given below:

belongs to which sports?
Choose the

Choose the most appropriate answer from the |

) options given below:
\ Anumangarh Canal (A) Boxin (B)  Badminton
B) Indira Gandhi Canal < C rickei (D) Discus throw
() Anupgarh Canal
(M Ganga Canal (E)  Question not attempted ‘
(1) Question not attempted z:gn jaru;q T 1 o wfeen faerd), fra ae
mﬁmﬂﬁ%qmmmm Hilfhi' o, 5 m?
AR LS IE fErey um - ﬁﬂi%ﬂtda ﬁﬁwi Haﬂaﬁ 3qgas :
%&mqﬁmm . (A)  siferm (B) =fiiz

A) o T (©) fre D~ fe=a o
(A TR AR BT 3R A
() IPRIW (D) A (E)  gafa ux

fg (F) syt w
Who among the following sports persons, from
92 Where is R

ajasthan geographically located in the state of Rajasthan, represented India at Paris

> (3)

India? Olympics in 2024?

(A)  North-West  (B)  South- East (A) Gajendra Singh

() South-West (D) North-East (B) Maheshwari Chouhan

(E)  Question not attempted (C) Muskaan ‘

TEr Mo g & e 3 et e & (D)  Yashaswi Jaiswal |
P,m IN-gTNT (B) E&W—‘f’f (E)  Question not attempted t

(©) Moafegw (D) s ®) Hra fow e Reenfeat & & wroram oer & frad dfm 1
(E)  sigafa v aﬁahwmuﬁmmuﬁrﬁﬁa?&mgr_?_,’__ '
(A) ™z fiz (B) wewl dem
©) T=H (D) et IEHaETE b
(E) SaRawy

options given below: 96  Who among the following was appointed as the |
(A)  Uttarakhand

(B) Chhatuisgarh
(C) Himachal Pradesh

93 Select the state which shares its border with the
state of Rajasthan.

Choose the most appropriate answer from the

Deputy Chief Minister of Rajasthan in December
2023? |
(A) Manoj Baghmer(B) Diya Kumari '

(D) Gujarat —— (C) Sumit Godara (D) Jogaram Patel .

(E)  Question not attemp , : t attempted
N (E) Quesm?nno ' ;

gﬁﬁgﬁﬂﬁ"“""“m*mﬂ TN e 2023 it ek e 3 |
Far S e

(A) IWGES (B) I |
© forawn Dy T ©) ghamem (D) |

(E) st war (B) 3gereEn Contd... |
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w The main problem in the agricultural growth in
Rajasthan is:

Choose the most appropriate answer from the

options given below:
(A) Limited availability of fertilizers
(B) Erratic rainfall
(©)
(D)
(E)  Question not attempted
T % g e e A 2
Frfeian et & & watfires voges s =3,
(A) T A e ITcrea o
Nﬁuﬁa'ﬂi .
(C)  f & foru whfera Yaedt 1w
(D) Fr i g T e

(E) ormfa w

Limited number of tractors for agriculture

Very small number of farmers

Where is “National Research Centre on Camel”

situated ?
Choose the most appropriate answer from the
options given below:
(A) Udaipur
(B) Bikaner
(©)
(D)
(E) * Question not attempted
T 3 ST e e o e 2
et ferentt i & rarfires g 3
(A) g

LB
(C) 3= 3
(D) ST

(E) wqufauy
Kim| ¢

Mount Abu

Jaisalmer

In Rajasthan nuclear power plant is located at:

Choose the most appropriate answer from the

options given below:

(A)

(©) (D) Kalpakkam

(E)  Question not attempted

TEEAH 8 AT A v e

ﬁnﬁf@ﬂmmwm

(A) APTEE (B) - X
~EF TEAMEAE (D)

(E) #TAATE

Tarapur (B) Narora

Rawatbhata

I g
FATIEFH O

100 Name the State Bird of Rajasthan.

Choose the most appropriate answer from the
options given below:
(A) Sunbird
(B) Dove
(C)  Great Indian Bustard
(D)  Peacock
(E)  Question not attempted
TSI % 77 Tl 1 918 F413)
Fretfefian famredi & & watfires suge s =5
(A) T
(B) @Al (29)

Oy e (e T wwd)
(D) #©r

(E) Irufayd

Who built the‘Taragarh fort” in Bundi?

Choose the most appropriate answer from the

101

options given below:
(A)
(B)
(©)

Rao Raja Bair Singh
Adinath Ji
Maharaja Kumbha
(D) Raja Aniruddh Singh
(E)  Question not attempted
s 3 amnTg farer feeds gro sHAr T
Fraferfa fadreal § § wafis I0gw 390
oy Ta e i (B) i St |
() wewmEFeT (D) T s fie

(E) safa g4
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Mateh Last-bwith |ist-11
List-1 (Person) LAst-11 (Area of Work)

A Komal Kothan "8 Singing

{ ,
b, Shaitan Singh ‘II. Journalism

S
1\
Y
:{#nmwlwwjﬁrmmﬂ

w1 ) a1 (e i)
A ENA ANAf. ey e

b famfee Uy T

¢ wrsfia faw ﬁl vafa
d. 9 gmEmE wmt gy et/
Choose the

¢ Jagpt Singh Folk culture

d. P dhabarmal Bravery/Valour

Sharma

most appropriate answer from the
opuions given below: * 1

13 v, o et & Sty
(A)

(B)

T ST,

a-1V.b-1l,c-1,d-1

a-1,b-1c-MWd-1
a-1l,b-1v, Jg'_,-:l, d-11
a-Lb-1llc-I4d-1v

Question not atfempted / FAE g
y

Who established a seétialled ‘Nishkalank’ (holy
and sinless)?

(D)
(E)

Choose the most appropriate answer from the
options given below: «r§t

(A) SaintMavJj ™

(B) Ram Charan Ji ~

(C) Maharshi Nav%ifém Ji

(D) Saint Rana Bai-

(E)  Question not attempted

i, (qfa siv'aty dfea) amE dwam 4

22

-~

(HM/ Who served as the Governor of Rajasthan from

2004 10 2007 rr

(A)  Margaret Alva
(B)  Pratibha ol

(C) Vasant l)aﬁa‘j?ati!
(1D)  Prabha Ra:}‘ _,

(k)

Question not attempted
4
2004 1 2007 FHIFEAEA F 777N F BT G 3’(:

(L

(A) Wﬁ’?ﬁ‘j

(B) wﬁmwﬁza.;

(C) mmmﬁa

(D) w79

(E) ﬂgﬁﬁau’;‘j =y '_fr
™~

) Who authored LF% book ‘Samta Darshan Aur
Vyavhar™? C‘»} |

=
Choose the mostypropn’m answer from the
options given below:

(A)  Acharya Ng_g_esh Muni
(B)  Acharya Pﬁ;mod Muni
(C)  Acharya \g;i:esh Muni
(D)  Acharya TUMi

(E)  Question l;n;anempled

“HAT A SN T e e v
ﬁnfaﬁaaﬁtaﬁﬁﬁnvf&mmmm

(A) :marﬁwﬁ*rgﬁ %:
(B) e wagwiy ;
(C) mﬁﬂ\ﬁﬁ x
Weliibar :
) *
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\LO,(’ A shopkeeper sol1d two pens at

o

the same Price.

One is sold at 4 profit of 10% ang other at 4 los.
S

of 10%. The overall profit or loss Percentage jg.
(A) 1% profit

B)  2%loss

(€©)  No profit, no loss

(D)
(E)

1% loss
Question not attempted

T IR 3 F A w0 e RRUER
10%%am‘ztaﬁtaamo%mﬁqtﬁmm}
T I AR = e 2
(A 1% B) 2%wf
© FEW AT Dy | %af

(E) gafawy

. b
P °\ 9
107 An articl€ s sold at a loss 0f 15% . Then the ratio

/"\

of selling price to cost price is:

TF T 15 % & ) a=ft et {1 o 3 f
S e
T 3R T T T AW R

—

(A) 19:20 By 17:20
g
€) 21:25 D) 13:20
: \ (E)  Question not attempted / ARG ¥

@ Sushil borrowed T 6000 from Shashi at simple
| interest. He repaid ¥ 9000 to Shashi after 4 years.

The raté of interest charged by Shashi is:
gt T mmmmmqwn%ﬁmamt\ 4

fapaa
+ 1566 f v € 9000 EL ¥
sferare o1 o @ <A g &2

AT 12.5% (B) 10%

(O 11.11% (D) 8.5% iy

(E)  Question not attempted / Wﬁa
KIM] &

D A certain sum of money is deposited in a bank,

=

o
which pays simple interest at the rate of 5% per
annum. In how many years will the sum of money

double itself?

(A) 15 years (B) 20 years

(©) (D) 10 years
(E)
ua fafira werofin wa & & smr ) sl 2, S0 5%

wiad Y R ¥ ATURr TS AT ¥y fed aut &

waf g & et
(A) 1594 \B’ﬁoa‘f
©) 2598 (D) 103

(B) qaf@ws

25 years

Question not attempted

110 Which of the following is not a biodegradable

waste?
Choose the most appropriate answer from the
options given below:
(A)
(B)
©)
(D)
(E)  Question not attempted
Freaferfrm & & a1 99 ot ST
L
ﬁqﬁmwaammmﬁ
(A) EwAI |
(B) TfE@EFW

ALY TiferT &h (dm)
(D) ¥ o |
(B)  or{afta uw

Jute bag
Fibres of coconut
Polythene bag

Banana peel

23 | Contd.



111 Which Wthe following diseases are transmitted
by air? oI

-

,HPGTCUIosiS b.

Cagcer d.

“e most appropriate answer from the
ophonw\ en below:

(A)
(©)

- Influenza

C.

Choose

Polio

b and ¢ only (B)
ddhd d only (D)
(E) éuestlon not attempted

LRl r aﬁq&ﬁnmmm

¢ and d only
a and b only

w
b. W
c. I
d.  ofemr
ﬁﬁ(&qﬁmﬁﬁ%mf&wwm@:
FaTb A (B) Faecaid
(C) FaTasd DY Faaasitp .
(E) 94
N
112 The prgss of pastoralists losing their animals

and livelihood due to government policies and
modern development is known as:

Choose:%e most. appropriate answer from the

optionsgiven below:

(A) beforestation

(B) Deékertification

(©) é\étoral 1mm1granon

(D) Dtstress driven displacement
(E) Question nc;t—zidttempted

qmﬁ:ﬁﬁ’a‘iaﬁtaﬂgﬁmﬁm%mm
gmm?wmaﬁtsﬁﬁmrﬁ@ftﬁmaﬁ

ﬂ%?r\
mmﬁﬁmwmﬁﬁ
(A) Fge Y

(B) !%é%arsﬂm"l)o

(C)  FFTET AAEA
Mmﬁﬁaﬁwm

(E) osafEud

KLM| @

24

113 Which of the folfowing statements is not true
about Raikas of kajasthan?

Choose the most tappropriale answer from the

options given befow:
(A) Godwar Eia}kas mainly rear sheep and
goat. [

(B) Dhandi is the settlement of Maru Raikas.
(C) Raikas are tradmonally, associated with
pastoralls‘n only as their profession.

(D) Maru Ral‘l‘gq;s are associated with camel

herding. ¢
(E)  Question m)t attempted

TorRwT & TErE O # frafafea & @ S
( )

ﬁm%ﬁgaﬁ%ﬁﬁ&mf&mmmgﬁ-
(A) ISR T JeTd: Wg S grerd §)
B g, mimmaﬁraﬁm’f%l
(©) mwimw%mﬁw
agh S
(D)
(E)
114 / On 23" SeptemPer 2024 in which area of
Rajasthan the [Sainik School was formally
inaugurated by ;;:Raksha Mantri of India?
Choose the moftlappropriate answer from the
options given be'loiv
(A) o,
©) (D)
(E)  Question not attempted
23 ﬁamzomi‘nm%ﬁm SERECILE )
mﬁﬂﬁmmwmm%mw%m
ﬁi‘TﬂTTNT" =
Freferfaa ﬁ?ﬁ?ﬁ’t 5 4 waifirs Iugw o -
(A) AR (B) @R
(€) 3@y (D) I
(E) aﬁﬂﬂaw

Jaipur Bikaner

(B)

Udaipur Ajmer

¥ 3
! ‘J
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115 Which of the following article of the Indian
Constitution was amended significantly in the
year 2019?

Choose the most apprapriate answcer from the

options given below: {

(A) Article 360 {

(B) Article 356 :;

(C) Article 366 N

(D) Article 370 e |

(E)  Question not att'én%pted

qu?ﬁaaﬁmqanaﬂwjraﬂ%%szzowﬁ
e wa & WA o R T d?
ﬁm%ﬁaﬂﬁmﬁﬁwwﬁbwmmgﬁ

(A) 3T 360 ’

¥
(B) ITI=T 356 N
(C) 3ITWVI366 )
P FTeBG370 o

(E) ¥R s
116 The New National “Education Policy of the
Government of Indla‘ has changed the school
education pattern from 10+2 to:
Choose the most apgrqprzate answer from the
options given below: #

mmﬁﬂmﬁrwmﬁ 10+2 framerdt

ﬁmwr@ﬁaﬁ ¥ et A T A1
ﬁw%%aﬁﬂﬁﬁgaﬁwwgwwgﬁ
(A) 5+4+3 w 5+3+3+4

(C) 6+3+3 k(D) 8+34

(E)  Question not at};{énpted / :ﬂaﬂﬂ'ﬁ a4

117 Where is Pushkar fairt drganised ?
(A)  Jodhpur “B) Udaipur
(C)  Ajmer (D) Bikaner
(E)  Question not agtgmpted
TS 0 a1 SIS el erar &2
) sagd ) vmgd

S s D) s d

(E) af@ws

KM ¢ -
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Which of the following is a popular folk dance

form of Rajasthan?

(A) CGhoomar (B) Bhangra
(C) Yakshagana (D) Fugdi

LW
(E)  Question not attempted

ﬁmﬁﬁﬁq-mmmrﬂ@s W?’

7 G (B)
(C) &g (D) cgsrgn
(B) Agaf@ g4 f_:
o
119 Select the name of a desert which is located in the
state of Rajasthan.
Choose the most appropriate ahéwer from the
options given below: P~
(A) Kalahari desert =
(B) Great Basin desert o
(C) Cold desert (@Y
(D) Thar desert v
(E)  Question not attempted <
39 A 6 A =T EAE IR D IC R R
e R <
frfafaa faeedl & @ waffas dagw ST
(A) HTTERY IR -
B) e AR A
(C) Fies e o
N LR i
(E) rgafaws O
120 India’s biggest saline water Take located in
Rajasthan state is: -
Choose the most appropriate gn;\\'er from the
options given below: N

(A)  Kachor lake (B)  SamBhar lake
(€)  Rajsamand lake (D) Puéhimdm lake
(E)  Question not attempted :

Waﬁwﬁa@aﬁmﬁaﬁrmm
Reurm 2. TS §

<
ﬁmﬁqﬁaaﬁﬁﬁt—qiﬁﬂwwffhm‘smm@:
(A) @B e ety i s
() TSHHE Sﬁﬂ 18)) er Sﬁ?’f
() siafa uw N

' |

¢y | Contd...
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121 Which of the following rivers is associated with (%4/ Two numbers are in the ratif, of 500 If 'hfu-
H.C.F, is 7, then the larger of the two numbers is:

A st w aqna 5 1| ¥ Atz e
ummlt,#luéf;ﬁﬁ@_y_mt:

inland drainage system of Rajasthan?

Choose the most appropriate answer from the

options given below:
(A)  Chambal (B) Kantli (A) 55°%
(C) Banas (D)  Sabarmati \/m’ .71 "/ ! /,/ J
! . 1
(E)  Question not attempted €) &Yy )i
foreaferfora & @ @7 d = towar 41 sia: el D) 11
STqaTE 4% Q@ grafaa & (E)  Quéstion not attempted / FAATA 34
Wﬁwiﬁmmm 4. o :
gﬁ 128 “Hawa Mahal” situated in Jaipur (Pink city) was
(A) w@EA.y By e , ' ®)
designed by which architect?
(€) =™, (D) g, ' ’ —
E) 3'3“4”"9' = Choose the most appropriate answer from the
( options given below:
122 Which is the originati Prmp (A)  Sawai Jai Singh
ich is the originating place of Luni River in B) Lal Chand Ustad

i 9
Rajasthan state? (C) Ustad Hawa Singh

Choose the most appropriate answer from the (D) Sawai Pratap Singh

R ST ——

options given below:

(A) Naga hills of Ajmer

(B) Rupal Glacier

(C) Minda mountains of Vindhyachal
(D) Chaurasi Garh

(E)  Question not attempted :
S (et ) i e A weer faw aregEn |
an faamee faa mra wm !
freaferfn fopedt & @ waifies sugw smogh: |

(A) wawafie By ot He IR
(E)  Question not attempted

(C) Imearfie (D) war yam fiw
oh T 1 g T T o e v @ e (E)  srafea war
L2

Mﬁﬂmmmﬂﬁ: 126
LK) SEHCE AT RTE

AT 1%+

‘Folk songs are the language of people, they are
the custodians of our culture’,

(B) ®ve femaz Who made the above statements?
(C) favaraa # fie vda (A)  Mahatma Gandhi
(D) g (B)  Sardar Patel
(E) mgq (C)  Jawahar Lal Nehry
,. (D) Rabindra Nath Tagore
@ The L.C.M. of -2_ -g- and %— is: () Question not attempted
1@ s, $ ot . @ e e §: et it s, 3 ey gt s e X1
A 6 —_— ‘ 39 et farery 3
79 Ay 3s B) = PRI 7
|7 ) 710 (A)  weres T fron
2N o D) 210 Ay e
",’D“"\ m' (D) (©) Wmﬁ‘uf/u» CIC G LKA :
| //(M (E)  Question not attempted / 3Twf@ w4 (E)  srqefa uu ‘
” KLM| ¢ 26 [ Contd... |
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127 The famous Agni dance of Jasanathi Cult

originated from which place in Rajasthan?

Choose the most ap'pﬁbpriate answer {rom the

options given bclow:r‘.‘

(A) Barmer r“‘i
(B) Jaipur :::
(C) Bundi e
(D) Bikaner 2
(E)  Question not attempted

mw%maﬁmﬁmﬁm%
fém@mﬁga‘”

N
(A) WS o
(B) AL it
ST I
(E) SAgaf@wH g
r\
vt

128  For which folk dramw Rajasthan the stage is set
in an open colony or?jourtyard of the market?
Choose the most appropriate answer from the

options given below:

(A) Bhavai :f

(B) Jagore ™~

(C) Rammat ;j

(D) Jatra N

(E)  Question not dﬁémpted

TS  far etz A H et Fe ar
ST & s Siaror & et et 82

Frefafian faapedt t@waffas sagm 300 -

(A)  Erg [~
o e
i N
o am O
) sqafayg O

129

130

27

_—

Which fair is the largest animal fair in Rajasthan?
Choose the most@ppropriate answer from the

options given bdk)w

(A) Pushkar Cagmel Fair
(B) Veer I"c|u;$ Animal Fair
(C) Animal IaixﬁKaruuh
(D) Donkey fafsRajasthan
(E)  Question not attempted
TISTET ohT Tad Gt 777 Fet1 41 22
Frerferfia el # @ wratfiras awges v 41
(A)  FeAa, 79
B A ATt &2 Her
(©) wH, ‘Sg*
(D) AT AT, TSFAT
(E) &faRa9q
o

When carbon d'p:ide gas is passed into lime
water, i.t turns th?jime water milky. This shows
the process of’ (‘j
Choose the mos; 4 ippropriate answer from the

options given below:

(A) Physical chidhge

(B) Condensa{i:n

©) Crystalllzﬂt’bn

(D) Chemical ehfmgc

(E)  Question mof attempted

Wmihmmﬁw%ﬁ%@%tmﬂﬁmrﬂ ;
fer s 2, ?ﬁ%ﬁtmqmzﬁmmmﬂm?an

Wﬁﬁﬁmﬁmmt
ﬁw%ﬁaaﬁmitﬁwui%mwn
(A) ifas
(B) " Z

Favca?«ﬂaﬁlv?’
(D) Umuﬁasifs‘a?h
(B) siefaws

[ Contd...




131 Galvanization is 4 process in which iron objects | 133 Which of the following metal is found in liquid
are coated with

to protect them from state at room temperature?

rusting.

Choose the most appropriate answer from the
Choose the most appropriate answer from the

options given below:
Opt)lons siven below: (A) Magnesium (B) Aluminium
(A) Zinc B) Brass '
( . (C) Mercury (D) Sodium
(©)  Gold (D) Silver o
(E) " Question not attempted (E)  Questiori not attempted

Wﬁéwaam%ﬁaﬁaﬁ%aﬁtmaﬁqt ﬁwﬁ-rﬁaaﬁ@raﬁﬂﬁu@w%mmwza
Waﬂﬁw%mm%ﬁvﬁa%mwﬁ e & T St 2

REEIRIE R ﬁnﬁaf@aﬁwﬁﬂﬁmﬂwmmﬂﬁ:
ﬁ%ﬁ%mﬁémmwaﬁ (A) ¥Hfrm (B) tfafrm
LAy S (B) die LD TEIEE) (D) wfer
© wd ©) =& (E)  arwfea v
(E) i@ wy }fwww«/
@ A magician plays a trick and adds a colourless 134 Match List- with List-II

)< solution to a glass of ammonium hydroxide List-I (Element) List-II (Colour)
solution and astonishes everyone with white a.  Sulphur L Pink
fumes of ammonium chloride. The added solution b. Chlorine - II.  Yellow
was:

c. Phosphorous 1.

Green - Yellow
Choose the most appropriate answer from the

d. Oxygen IV.  Colourless
options given below: H‘ﬁf—l %WFELII — =
A)  Sodium Hydroxide -
w PR elt-1 (ﬂ?ﬂ) g1 (o)
(B)  Hydrochloric Acid ‘

(C) Nitric Acid

/
(D)  Sodium Chloride b. TS \

(E) - Question not attempted ¢ PRERE—— Tt
T SR G frarer & ol s e | 4 SN 1y g
WM&G@W taur et Choose the most appropriate answer from the
m F e @Q ¥ =fehd & @ 2l options given below:
foreTra ram forer am: ' Tﬂ%ﬁqwﬁﬁﬁﬁﬁwﬁﬁwmmgﬁz
Frerfeafiaa el & & wratfores sugw 3o it (A) a-1V,b-c- |1 -1
(A) wifeaw TEgiaaTEe (B) a-Lb-1V,c-lLd-1
(B) wEgIING At © a-NLb-1c-1V,d-1

| (C)  Amsfoeh 3T PP aslbelle-Ld-ly
(D)  wifew FeiiEe, (E) Qu;_slion ;ot attempted / TR Wy
(E) orqafa g

[ Contd...
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Which of
the following is the correct formylq
or

Nnumbe i
r of IMages formed for an object placed

between ¢
WO plane mirrors inclined at 4 certain
angle?

Choo 7
e the mogy appropriate answer frop, the

options givep below:

A) Numberg of image N)=

180
angle between the mirrors

E

Numbers of image (N) =
( 90

angle between the mirrors
Numbers of image (N) =

( 180

angle between the mirrors
Numbers of image (N) =
(D) 360

( angle between the mirrors

(B)

)+

(©)

)+1
)1

(E)  Question not attempted

ot forrar apYor WX 7Tl &) e Qo ok sl Tl
e P ¢ AT 3
. Rifiat €1 dear ¥ fore Frfmaa
4 8 T a1 g e 22

N =
Frrerfa faedt A1 eatfars s 3T

\

180 -1
(A) Wa‘»’rmN=(wgmmWJ
90 +1
(B) et &1 we N =| —— ey
I L\ N
(C) whfat & 7&m N = | — e a1
~\
360 -1
(360
(D) st 1 %60 N = | g g
\ 6‘615
(E) wrafds4
{ \ t/Q
KL{?I*Q\?( \ 5o “:i 1o
/ VRN '
N ”0/‘7 A PN
/N (\/")/ -

l

*’ﬂ—

which of the following statemeny is not correct
about reproduction in camels?
¢

4

Choose the most appropriate answer from the

options given below:

(A) For reproduction, camel should not be
older than 20-22 years,

(B) In winter male camels are given more
nutritious food.

(C) The gestation period in camel is generally
380-400 days.

(D) For reproduction, camel should not be
younger than 5-6 years.

(E)  Question not attempted '

frreaforfiaa & & iz o S o TR A FH-H1 For qEL

Fa7) |
%ﬁm’iﬁﬁmﬁbﬁm\, I

(A) S & o, Sz it A1y 20-22 7 & arferm
T& gt =fey)

(B) w3l & T3t i 3w ek e fa smar
2l

(©) 32 ¥ misra # srafyr qm=E: 380-400
e fir ardt 21

(D) S & T, $z oY a1y 5.6 af @ T

Bt =fey
3T W

@ If the difference in the compound interest and
simple interest on a certain given sum for 3 years

(E)

0 : o
at 10% per annum is 2 1,674, then the sum (in%) &
is - ‘

|

@ﬁfaatrﬁmmo*%wﬁraﬁaarwsa&w .

W@Wmmmmwﬁz 1,674 XN

2, 4 T uftr (owd ) 2. T

54,000 (B) 53,250 Y

(©) 52,500 (D) 54,600 i

(E) " Question not attempted / 3R Wy W
@/’I‘he simple interest on a sum ot 5000 is T 2450 ;\'? N

If the rate percentage of inge

number of years, then rate percentage is -

¥ 5000 %1 "mYr SIS 7 2450 21 afd s

I it ot s 3 s 2, sarr o6
AT 79, (B) 8% -

(©) 9% (D) 6%

(E) " Question not altempted / ITTARaT wy
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[P Tkv X 2*
1\3 a 1 \\j fi( ._j.. ) 3 rz * T —
. N y ©
PR ek P z , W s i
AT SR )
"9 eV iacthan is: (As on 01
f 139 A sum of 21850 5 10 pe dividedamong A, Band | 143 The present governor of Rajasthan is:
C such that . A'Ssharc _ B's share _ 3 September 2024)
'sshare ~ C's share ~ 4 ) Singh
Then A’s share ; (A)  Shri Kalyan Sing
& (B)  Shri Hdribhau Kishanrao Bagde
< 1850 a’a'AA’ B 3t C & g e Frfor o (C)  Shri BHajan Lal Sharma
& STATR - ﬁ‘ﬂ: B a1 wrm _3 (D)  Shri Ka??%j Mishra
AY A A F R %qm Cawm 4 (E) Quesn((q‘not attempted
6‘\ o TSTEIH & T TR (U R 2024 ) &7
Ny (A Ts i (B) %450 N o
AN /K ©) 600 (D) 2500 ™ :
Y (E)  Quest (A) o fig
1
O not attempted / IR Wiy B aﬁwmm
‘ ©) ot vioarer yrt
140 / Find the fourth p proportional of 2,9and 18. FS
2, 9aﬂt 18 =T Stert gt @) A Al
(ﬁu 3 T g oy I i (E)
(A) . (B) 76 o
Y 81 4 D) 25 <§44 ) Which of the(fqllowmg flower colour expresses
(E) " Question hot attempted / Nﬁﬁa o as dominant trait in garden pea plant?
Choose the lgst appropriate answer from the
C The total numbef‘ of medals won by India in °Ptions given below. |
o (A)  Golder™  (B) Biack
v f( ,7< Paralympic 2024 at Paris is: ©)  Viol t[**«. ®) W
; 10l¢e ite
2024 % ﬂnaﬂa; T e
\Af\ — Qi({.l_ ¥ wrg A ERT Sfte e Ty (E)  Questignjnot attempted
Seieme:. | : mé:rvﬁ(uzr)%éﬁgwmﬁq FI-ET ET 9Tt gy
@ (A) 29 ¢ (B) 30 T —
© 31 D 28 ﬁwﬁﬁaﬁmﬁﬁﬁmﬁba;svgmmai;
(E)  Question not attempted/ AFafa w (A) T ®) ®w
; © & = (@) A ()
142 Select the name of 1% and only woman Chief (E) Njﬁ'ﬁfﬁ%r
Minister of Rajasthan from the fol.lowmg: 145 Which of th erféllowing branch of Biology deals
(A)  Smt. Shila Dixit with princnplcs%f inheritance? _
(B)  Smt. Sushma Swaraj ) Choose the Sk)st appropriate answer from the
(C)  Smt. Suchefa Kriplani options given below
(D) Smt. Vasundhara Raje A) Ecolo (B)  Embryolog
(A) gy gy
(E)  Question not attempted (C) Cytology (D)  Genetics
= ﬁq forereat. ﬁ q TS &Y ‘ﬁv?ﬁ IR w (E) Ques“?? not attempted
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JMR ANSWER S

/146, External appearance of an individual (organism)

N
r
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148

ﬁqﬁvﬁaaﬁam‘iiﬁmﬁamwgmmgi;
A T (B) I 1w
(C) TsTTA (D) ey
(E) omafE
KLIM| ¢

fore s\a
= s on the 1ast page 0°

e No.
enda“C
aad the instructon A\\‘ T e

(

A

is called as:

Choose the most appropriate answer from the
options given below:

(A)
(B)
©

Genotype
Phenotype
Homozygous
(D)  Dominant character
(E)  Question not attempted
forelt Sfir o sty oo e -
Freaferfa et & & wratfis Jvgw s
(A) ST (Sfrers)
(B) TINEY (Fritergy)
©) wwgms
T e

(D)
(B) st s

That poetic text where the description of glory,
wars and valour of a king gjven is:

Choose the most appropriate answer from the
options given below:
(A) Vigat

(B) Raso
(C) Rupak (D) Veli
(E)  Question not attempted
T F1 1 it o & el v, 7 el
e o e frrerar 2, e & P |
ﬁq%ﬁaaﬁmﬁ&waﬁba;mm‘ﬁ
Aa) fame B TE
C) wF (D)
(E) Irqaf@ s

Kuchamani Khyal was started by which famoyg
folk dramatist?

Choose the most appropriate answer from the
options given below:

(A) LachhiRam (B) NanuRam
(C) RajaRam (D) LalaRam
(E)  Question not attempted

mmﬁm%ﬂmmmi
__#rdh
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149 On the occasion of Teej festival in Rajasthan,
women mostlywear ___ .
Choose the most appropriate answer from the

options given below:

(A)

Lahariya Bhant ki Odhni
(B)
©
D)
()
’ —_—
_ wd ‘
Proian e & wartfors swgws s

Lahariya Turban
Pink Pomcha
Blue Pomcha

Question not attempted

sy TEETH R A |

(B) i w0
© el
(D) e M=y
(B) gaRawx

On which festival in Shekhawati region of
Rajasthan do men dance in a circle playing a
musical instrument called chang?

Choose the most appropriate answer from the
options given below:

(A)  Holi (B) Teej
(©)  Diwali (D) Marriages
(E)

Question not attempted
TSI 3 Srgrady o & foer v S e ¥t
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Freferfae farared it & it 39gwm ST I
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(E)

It wa

l Contd...




